HzhE HW 180 HUK RINGSPANN°
BRI - TERATF

R EEIRE L YRR Zh 2%

R R
B H
b W
WG EAR K2 x 902K 180
) H
T u
TeRERR ;B K
BRI %4 200 kN 200
NNl

H5h5 HW 180 HUK,

BRI 47 200 kN:

HW 180 HUK - 200

BoRYE Fohthks 1 s
SE S kN o FERATCIR o FKIVRIZTHARISO 12944 Rt L PECA-Hul#
C5M-H (Al )
4o 33 66 99 133 166 200 o BEEER DT
DRJMEJ% & - H4E1S0 12944, KifivkE%4hCA-L
. e « B HISALITIW = 30 mms KB
Q%Qe& JEE R AR % 2 1) 227 [l v
250 /n, 225
9/
§ 200 / A S
= ;/2¢°
S5 1
E 150 A xS
= // / \cacy
100 4 Ar/
74
50— A,/
15 45 75 105 135 160
i/ bar
B om B L T H BRI R 500,4.
T /M5 bar
K160 bar
FEMAR: F K190 cm?
i ca.65 kg

146



Hizh4 HW 180 HUK
TR EHIB) - TAAFF

RINGSPANN"*

FERBERRAL RT3 4
228 206
>8 >8 >8 Wy GERAE)
T T e S

118

)
!
!
O

-
o
o
@

&

RINGSRARNRN-®

h
]

241

282
147-1
H
S HEREIE M10
A HEIG1/4"
/
@ D min.=2000 mm
U = | i
[ &
B [ ] Xf L ol Y 116
o & N
——————— B | P Q |
0D /b = 2000 mm D P OB Q@ - @
4 4 ]
O D D D S G4
I ; | J
== o ==
RSN R 147-2 PRI 147-3 s 4] 147-4
PREERKVHE HIZh AR AR
2ok A 45 M DR MB = %Ud]*ﬂ%ﬁ [Nm]
B:—.p.p“ s
Dy=d+(2-49 mm) 0,786 D Bl AAME [mm]
(%4 d 2 2000 ) d = HIZhEA%E [mm]
=conmm D = Mefistife [mm]
S AR A A p = il [bar]
Dg=D-(2-54 mm) po= BERY

147



